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Time : 3 Hours] [Max. Marks : 90

English Medium

Note :- (i) Attempt five questions in all.

(ii) Question No. 1 is compulsory.

(iii) Attempt any one question from Units (I), (II),
(III) and (IV).

1. Attempt any nine questions from the following in

25-30 words each :

(i) Who was Cardinal Mazarin ?

(ii) Two scholars of France with their writing during

French revolution.
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(iii) Most prominent person of Congress of Vienna

with his role.

(iv) Explain the two principles of Congress of

Vienna.

(v) Where and in which field industrial revolution

occurred firstly ?

(vi) Tell the names of the three inventors who deals

in transport and communications.

(vii) Explain Zollverein.

(viii) In which year Bismarck become the Prime

Minister of Prussia ?

(ix) Four important personalities in Peace Paris

Conference.

(x) Immediate cause of 1911 Chinese Revolution ?

(xi) What do you know about Kumintang and who

was its prominent leader ?

(xii) Four universities of Japan during modernization.

(xiii) In which year Japan attacked on China ?

(xiv) Immediate cause of World War II.

(xv) Two effects of World War II. 2x9=18
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Unit-I

2. Explain the causes and consequences of American

Revolution.

Or

3. What do you understand by Napoleon's continental

system ? Explain. 18

Unit-II

4. Discuss the various stages in the unification of Italy.

Or

5. Explain new imperialism with the Scramble of Africa

among the European powers. 18

Unit-III

6. Discuss the causes and effects of World War 1.

Or

7. Explain the Revolution of 1917 in Russia. 18

Unit-IV

8. Give an account of modernization of Japan. 18

Or

9. On the outline map of world, mark the places : New

York, London, Johannesburg, Trafalgar, Peking and

explain any four of them. 10+8
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(ii)

(iv) f^RTIT

(vi)

\*^ *fc* Vh f^. **̂

:- (i) "̂ eT TTT^T

(ii)

(iii) Uc^ fef^ (I), (ii), (Hi) sfk (IV)

25-30

(iii) f^RT cfft chlil'H "̂ T

(v) all dlP i ch ^rf^r ^H^ "^^ qR^f affr
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( s ) 36-N

'£

(AX)

(ATX)

(nix)

(llX)

IS>TtK ^^^ <; ^ blKkjhfi Ihk IMohlte ^L lfl^h]|No (ix)
'

H6T

(Xl)

I Ikk bMo ^JiHfeJi 15k INfr|fc Molh4loJ (lUA)

(llA)



3IS!lcn"

18

6. "' Iq^ci ^ ̂ ^ ̂  "5T l̂Tq1

7. 1917 " t̂ ^^T " t̂ shlPd "̂ T "q^T ^11^1^1 18

8. ^ IHM "̂  ^f^fernr "̂ T wfa chlpjlM! 18

9.
v\8
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(Punjabi Medium)

(1) crt* 5 vpera oft i
(2) UH?> <? : 1 e
(3) utoT LTfe (I), (II), (III), (IV) f^T feoT

oft I

1. tte1 ftQ" ip?^ "fetJ ct^t 7) IfHcS" 25-30 HWi" ff^"

(i) oCdJl^W HrFdte "fe ift ?

(ii)

(iii) "fe^fW ̂  oi^didH ̂  H^ "3 ^si'^H'ttl "fe»R3t

? M§" H ^ feH UtT oft fHcF

(iv) ?)1" oj'dldH

(v) 0^^rdlc( " t̂st HsT 13 Uftw f^% ̂  foldS fed"

(vi) ^'^'H'^l 3" w^ ^ H'UA1 ^" fen

(vii) rl^Pd6 5 dd'31 oft

(viii)

(ix)

(x) 1911

(xi) ^SfrlcSd'dl "§ dd'5^1 oft

(xii)
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